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Test Instructions
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m You are allowed 85 minutes for this test.
m You may use a calculator. [

There are different types of questions:

Multiple choice
m Each question has four possible answers.
Only one is correct.
m Use only a pencil to shade in the
answer bubble of your choice.
m If you make a mistake then rub out
your answer completely and shade
in the bubble of your new answer.

Open response

m  Write your answers in the spaces provided
within the test booklet.

m Do not write outside the answer spaces.
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Grade 11 Applied Mathematics

Hamad is to run in the 100 metre, 200 metre and 400 metre races at the athletics meeting.

He estimates his chances of winning are %, % and % respectively.

What is the probability that he wins exactly 2 races?

1
© g

7
© %

3
© 3

O 1

Consider the data presented in the following stem and leaf plot.

Stem Leaf

2 2,2,5,7,8

3 0,23,3,7,8

4 1,1,2,3,4,5,6,6,7
5 3,3,4,5,8

6 0,2

Which one of the following histograms best displays the same data?

(any O\l

Frequency
Frequency

Score Score

0
0

Frequency
Frequency

Score Score
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Grade 11 Applied Mathematics

XY Which graph represents y = 2x + 87
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The probability of randomly selecting a student with glasses from a group of students is 0.4
In the group there are 14 students who have glasses.

What is the total number of students in the group?

O 21
O 28
O 35
O 42

Consider the following figure where S is the midpoint R
of PQ, and both triangles are right angled. 0

13
If cos ¢ = % then what is the value of tan0?

>
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Grade 11 Applied Mathematics

A sample of shoe sizes had a mean of 6

The sizes were:
6 7 8 3 2 6 7 8 p gq

What is the mean of sizes p and ¢?

O 55
O 65
O 75
O 85

A survey was taken regarding whether homework should be set for weekends.
Students and staff were asked whether or not they were in favour of weekend homework.

The results are given in the two-way table below.

Staff Students Total
In favour 4 26
Against 40
Total

The number of staff is 75% of the number of students surveyed.

Which statement is true?

O The total against = the total number of staff.
O The total in favour = the total number of students.
O The number of students in favour = the number of staff against.

O The number of staff in favour = the number of students against.

The following graph shows a population described by age.
A

Number of people

Age

Which correctly orders the mean, mode and median?

O mean = mode = median
O mean < mode < median
O mode < mean < median

O mode < median < mean
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Grade 11 Applied Mathematics

A graph for converting one value (H) to another (D) is shown below.
It shows, for example:
when H=7,D =41, and

when H=2,D =21

L8

The formula for converting H to D is in two pieces.

Which is the correct formula for calculating D?

O Dp- 10.5H O<H<?2
13+4H H=>2

O D- 21 O<H<?2
41 H>2
10.5H O<H<?2
7TH H>2

10.5H O<H<?2
d4H+21 H=>2
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Grade 11 Applied Mathematics

Six large posts and one small post weigh 10 tonnes in total, as do four large and four small posts.
The equations 6x + 1y =10 and 4x+ 4y =10 representthe same information.

The graphs below could help you to answer the question.

¥

—10.

What is the weight of 2 large and 4 small posts?

O 5tonnes
O 6 tonnes
O 7 tonnes
O 8tonnes

Consider the two data sets which are given below.
Set1: 28 40 50 53 55
Set2: 28 30 50 55 63

Which statement is true?

The two sets have:
equal standard deviations but different means.
different ranges and different means.

equal means and different standard deviations.

0000

equal standard deviations and equal means.

1"
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Grade 11 Applied Mathematics

The set a, b, ¢, d, e, f is a set of numbers in ascending order, such that:
Median = Mean

fis found to be an outlier and consequently removed.

Which one of the following will not be true of the new data set?

O Median =¢
O Mean will reduce

O Range will reduce
O Mode will reduce

Sara buys a toy bear, a toy cat, a toy dog and a toy elephant. She arranges them in a line.
Two such arrangements are:

(i) bear, cat, dog, elephant
(i) bear, dog, cat, elephant

How many other different arrangements are possible?

O 10
O 12
O 22
O 24

Some students sat a test. They all scored between 10 and 15

The results are given in the table.

Score 10 11 12 13 14

Number of students 14 16 X 15 14

If the mode is 12, then which of the following is a possible value of x?

O 14
O 15
O 16
O 17

13
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Grade 11 Applied Mathematics

: 2
Area of a circle = 7
Circumference of a circle = 2nr

What is the surface area of this solid cylinder? Tm

O Imm’ TN

O smm’ v

O 6mm’
O 3mrm? 3m 3m

not to scale

The costs of small potted plants sold at a local market are recorded in the following table.

Number of plants purchased 1 2 3 4

Total cost (Dhs) 3 5 7 9

The points are graphed with the number of plants on the horizontal axis.
A line is put through the points.

What is the gradient of that line?

O

O Ul N|—

N

O
(.
(.

Mouza has six different stamps of the world.
She selects two stamps at random to give to her sister.

How many different selections of two can she make?

O 12
O 15
O 30
O 36

15
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Grade 11 Applied Mathematics

The figure drawn below consists of a rectangle with semi-circles at the ends.

What is the area in cm’ of this composite figure?

C ) [zen

5cm

O 10+mn
O 14+n
O 10+ 2nm
O 10+ 4n

cosf =

agllw

What is the value of sin0?

0 0 0 O

On a particular day, Dhs 45 is equivalent to 10 Euros.

A flight from Dubai to Paris costs 450 Euros.

How much does the flight cost in Dhs?

O 100
O 450
O 1625
O 2025

17
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Grade 11 Applied Mathematics

Almas Towers is a 360 m high building in Dubai.

Khalid is standing 360 m from its base.

What is the angle of depression looking from the top of the building down to Khalid?

O 30°
O 45°
O 60°
O 135°

Two sets of data are recorded in the following frequency tables.

Score Frequency Score Frequency
0<x<10 2 0<x<10 4
10<x <20 5 10<x<20 3
20<x <30 2 20<x <30 2

The back to back stem and leaf is meant to represent the two sets above.

41 0| 4 5 6 6

Key: 10| 3 = 13

4
8 7 6 5 3|10/ 3 6 7
y 0] 20| 5 8

What could the value of y be?

O 0<y<?

O 10<y<19
O 20<y<29
O 10<y<29

Mahmoud is in a fishing boat some distance from a cliff.
He knows the cliff is 100 m high.
He estimates the angle of elevation to the top of the cliff to be 25°

Which expression gives the distance to the base of the cliff?

O 100tan25°

100
tan 25°

O 100cos25°

100
sin 25°

19
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Grade 11 Applied Mathematics

sin27°=0.45 cos 27° =0.89 tan 27° = 0.51

What is the value of x in the triangle below?

o
27 [ ] not drawn accurately

O 45
O 51
O 6

O 8.9

Shaika takes a taxi (T) or a bus (B) to work.

The probability that she takes a taxi is 30%.
When she takes a taxi she is late 60% of the time.
When she takes a bus she is late 50% the time.

The information is presented in the probability tree below.

0.5 Larte
B
Not Lata
Lt
03 0.6
-
Not Lata

What is the probability that on the next work day, Shaika is late?

O 0.35
O 0.50
O 053
O 0.60

21




ddodai Ol y — jis (g3 Lol

y = o U s LU LD L e (RS

B(3,9)

\

=

Calaidl die ool vy ¢

0000

T P T gUov
(2 s e el 036000 mL - 5 5 d) 23 ool

.gyg\&u\gﬁugjglm\&wgﬁmsw@sg%&@@;f;ﬁb 28
b dly a5 Inl e IS0 shew SN B o sl e By T el €

ol e ) e s l) w5 Sk b oSG

70

128

720
1680

0000

22




Grade 11 Applied Mathematics

The graph below is of the quadratic equation y = x°

YV

A tangent is constructed at point C.
What is the gradient of this tangent?

O 2
O 3
O 4
O 5

A sphere is submerged in a container full of water.
It displaces 360007 mL of water.

Volume of a sphere = %ﬂr3

What is the exact radius of the sphere?

O 30cm
O 30mcm
O 60mcm
O 600 cm

A new shopping centre in Dubai has 5 shops on the ground floor and 3 shops on the top floor.
Four new managers have been appointed to the centre. Each manager will manage only one shop.

In how many different ways can the four managers be assigned to 4 of the shops?

O 70

O 128
O 720
O 1680

23
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Grade 11 Applied Mathematics

In a group of 100 students, 60 study mathematics, 50 study physics and 40 study both mathematics
and physics.

One student is selected at random from the group.
What is the probability that this student studies neither mathematics nor physics?

O 03
O 06
O 0.7
O 0.88

A fair, standard dice is rolled.

What is the probability that the number on the top face is not 4, given that
an even number turns up?

O

o~ —

O
(.
(.

ol WIN W=

A cylinder has a volume of 100 cm® and a curved surface area of 100 cm”

. 2
Area of a circle = 17
Circumference of a circle = 2nr
. 2
Volume of a cylinder = nirh

What is the radius of the base of the cylinder?

0.5cm
Tcm

2cm

0000

2mcm

The length AB is given by: iZ

O

10sin40°

10cos40° 10
10
sin40°

10 A0
cos40° |_

0 00

25
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Grade 11 Applied Mathematics

An isosceles triangle has two sides of 8 cm and one side of 6 cm.

Which equation can be used to find the value of x?

3
(] cosx—Z
3 & T A
(. cosx =g
(- sinx=% z
3 Goom
(] sinx=§

This currency conversion graph can be used to convert between Dirhams (Dhs) and U.S. dollars ($)

A

35 "

15 cal

£

10 me

5

0 [
O 10 M S0 40 50 & 70 & 90 100

Cihs

If you convert $50 to Dhs using this graph, what is the result?

O Dhs 13.50
O Dhs 92.00
O Dhs 117.00
O Dhs 184.00

Look at this straight-line graph.

¥4
What is the equation of the line? 4
O y=-2x+4
O y=2x+4
O y=4x-2 5 -
O y=-4x-2 - *

27




